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RS Aggarwal Solutions Class 8 Mathematics
Compound Interest

Ex 11A

1. Let Principal = P, Rate = R% per annum, Time = 1 years.

2. When interest is compound Annually:

Amount =P [ 1+ =]
ount = +1DD

3. When interest is compounded Half-yearly:

_ (R/2) |2n
Amount = P |:1 STV

4. When interest is compounded Quarterly:

_ (R/4) |4n
Amount = F |:1 + 00

5. When interest is compounded Annually but time is in fraction, say 3% years.

3 2n
Amount=P[1+iD] x|1+35 "
101 100
6. When Rates are different for different years, say Ry%, Ra%, Ra% for 18t ond gpg 3rd year respectively.

_ Ry Ro Ra
Then, Amount =P [1 + 100][1 m][1 1DDJ

7. Present worth of Rs. x due n years hence is given by:
X

Present Werth = . R
100

Future Value Formula (compound interest)

¥ nt
A=p(1+7]
n

Where:

A = resulting amount (future value)

P = amount of principal (present value)

r = annual interest rate

n = number of compounding periods per year
t = time (in years)

Let Principal = P, Rate = R% per annum,
Time = n years,

1. When interest is compounded annually :

R
Amount = P|1+-—

100
2. When interest is compounded half-yearly :
(R/2) [**
Amount = Ph1+ 100
3. When interest is curﬁ;mmded quarterly :
~ ®R/49) |
Amount = P 1 100

4. When interest is compounded annually
but time is in fraction, say 3% years.

=R
R 5
Amount = P [1 +m [1 +m]

5. When rates are different for different
years, say R;% , Ry%, Ry% for 1st, 2nd and
3rd year respectively. Then,

poemeres ol RN R, R )
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6. Growth : If the rate of growth is constant,

then
r e
V= v0(1 +100]

where % is the rate of growth per year, n
is the number of years, V; is the present
measure of the quantity and V is the
measure of the quantity after n years.

Similarly, if V; is the measure of the
quantity n years ago and V is the present
measure of the quantity, then

r L
V = V{;(l +ﬁ]

7. Depreciation : If the rate of depreciation is
constant, then

- . r n
V = Vg(l _ﬁ]

where r% is the rate of depreciation per
year, n is the number of years, V; is the
present value and V is the value after n
years. :

Q1L

Answer:

Principal for the first year = Rs. 2500
Interest for the first year — Rs. (Z29%1) — Rs. 250

Amount at the end of the first year — Rs. (2500 +250) = Rs. 2750
Principal for the second year = Rs. 2750
Interest for the second year = Rs. (%) = Rs. 275

Amount at the end of the second year = Rs. (2750 + 275) = Rs. 3025
. Compound interest = Rs. (3025 — 2500) = Rs. 525

Q2.
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Answer :

Principal for the first year = Rs. 15625

Interest for the first year = Rs. (%) = Rs. 1875

Amount at the end of the first year = Rs. (15625 + 1875) = Rs. 17500
Principal for the second year = Rs. 17500

Interest for the second year = Rs. (%) = Rs. 2100

Amount at the end of the second year = Rs. (17500 + 2100) = Rs. 19600
Principal for the third year = Rs. 19600

Interest for the third year = Rs. (%) = Rs. 2352

Amount at the end of the second year — Rs (19600 + 2352) = Rs. 21952
. Compound interest = Rs. (21952 — 15625) = Rs. 6327

Q3.

Answer :

Principal amount = Rs. 5000

Simple interest = Rs. (%) — Rs. 000

The compound interest can be calculated as follows :
Principal for the first year = Rs. 5000

Interest for the first year = Rs. (%) = Rs. 450

Amount at the end of the first year — Rs. (5000 +45I}) = Rs. 5450
Principal for the second year = Rs. 5450

Interest for the second year = Rs. (%) = Rs. 490.5

Amount at the end of the second year — Rs. [5450 4 490. 5) = Rs. 5040.5

. Compound interest = Rs. (5940.5 — 5000) = Rs. 940.5

Now, difference between the simple interest and the compound interest = (CI — SI) =Rs.
(940.5 — 900) = Rs. 40.5

Q4.

Answer :

Principal for the first year = Rs. 25000

Interest for the first year = Rs. (253 ) = Rs. 2000

Amount at the end of the first year — Res. (25000 +2000) = Rs. 27000
Principal for the second year = Rs. 27000

Interest for the second year = Rs. (%) = Rs. 2160

Amount at the end of the second year = Rs. (27!]0!] +2160) = Rs. 20160
Therefore, Ratna has to pay Rs. 20160 after 2 years to discharge her debt.

Q5.
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Answer :

Principal amount = Rs. 20000
Simple interest — Rs. (%) — Rs. 4800

The compound interest can be calculated as follows :
Principal for the first year = Rs. 20000

Interest for the first year = Rs. (%) = Rs. 2400

Now, amount at the end of the first year = Rs. (20000 4 2400) = Rs. 22400
Principal for the second year = Rs. 22400

Interest for the second year = Rs. (%) = Rs. 2688

Now, amount at the end of the second year = Rs. (22400 + 2688) = Rs. 25088

Hence, compound interest = Rs. ( 25088 — 20000) = Rs. 5088
Now, CI — SI = Rs. (5088 — 4800) = Rs. 288
*. The amount of money Harpreet will gain after two years is Rs 288.

Qo6.

Answer :

Principal for the first year = Rs. 64000

Interest for the first year = Rs. (%) = Rs. 4800

Now, amount at the end of the first year = Rs. (54000 +4BOD) = Rs. 68800
Principal for the second year = Rs. 68800

Interest for the second year = Rs. (%) = Rs. 5160

Now, amount at the end of the second year = Rs. (6880'0 +5160) = Rs. 73960
Principal for the third year — Rs. 73960

Interest for the third year = Rs. (%) = Rs. 5547

Now, amount at the end of the third year — Res. (73960 +554?) — Rs. 79507
. Manoj will get an amount of Rs. 79507 after 3 years.

Q7.

Answer :

Principal amount = Rs. 6250

Rate of interest = 8% per annum = 4% for half year
Time = 1 year = 2 half years

Principal for the first half year = Rs. 6250

Interest for the first half year — Rs. (“55) = Rs. 250

Now, amount at the end of the first half year = Rs. (6250 +250) = Rs. 6500
Principal for the second half year = Rs. 6500
Interest for the second half year = Rs. (%) = Rs. 260

Now, amount at the end of the second half year = Rs (6500 + 260) = Rs. 6760

. Compound imterest = Rs (6760 — 6250) = Rs 510
Hence, Divakaran gets a compound interest of Rs 510.

Q8.
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Answer :

Principal amount = Rs. 16000
Rate of interest = 10% per annum = 5% for half year
Time = 1% years — 3 half years
Principal for the first half year = Rs. 16000
_ 16000x5x1 Y _
Interest for the first half year — Rs. (12002%x!) — Rs. 5800

Now, amount at the end of the first half year = Rs. (lﬁlJﬂlJ + SOD) = Rs. 16800
Principal for the second half year = Rs. 16800
Interest for the second half year = Rs. (%) = Rs. 840

Now, amount at the end of the second half year = Rs. (16800 + 840) = Rs. 17640
Principal for the third half year = Rs. 17640

Interest for the third half year — Rs. (™) — Rs. 852

Now, amount at the end of the third half year = Rs. (17640 + 882) = Rs. 18522

. The amount of money Michael has to pay the finance company after léyea.rs is Rs
18522,
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Ex 11B

1. Let Principal = P. Rate = R% per annum, Time = n years.

2. When interest is compound Annually:

Amount =P [ 1+ |

unt = ST

3. When interest is compounded Half-yearly:
(R/Z) | 2n

Amount = P |:1 +W:|

4. When interest is compounded Quarterly:

3 (Ri4] ] 4n
Amount = P |:1 + 00

5. When interest is compounded Annually but time is in fraction, say 3% years.

3 2 R
Amount:P[1+i[J x|1+5 "
10 100
6. When Rates are different for different years, say Ry%, Ro%, Ra% for 15, 2" and 3™ year respectively.

- R‘] RZ R3
Then, Amount = P [1 + ﬁ]@ + m}@ + m}

7. Present worth of Rs. x due n years hence is given by:
X
Present Worth = - R
100

Future Value Formula (compound interest)

¥ nt
A=p(1+4]
n

Where:

A = resulting amount (future value)

P = amount of principal (present value)
r = annual interest rate

n = number of compounding periods per year
t = time (in years)

Q1.

Answer :

Principal amount, P = Rs 6000

Rate of interest, R = 9% per annum

Time, n = 2 years.

The formula for the amount including the compound interest is given below :
_ r\"

A= Rs P(1+K)

—~ A4 - Rs 6000(1+i)2

1
_ 10049
=4 = Rs. 6000 (153

2
= A = Rs. 6000 (%)
= A = Rs. 6000 (1.00 x 1.09)*
= A = Rs. 7128.6

i.e., the amount including the compound interest is Rs 7128.6.
. Compound interest = Rs (7128.6 — 6000) = Rs 1128.6

Q2.
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Answer :

Principal amount, P = Rs. 10000

Rate of interest, R = 11% per annum.

Time, n = 2 years.

The formula for the amount including the compound interest is given below :
_ R \"

4= Rs P(1+8)

= A = Rs. 10000 (1+%)2
= A = Rs. 10000 (%)2
= A = Rs.10000 (%)2

= A = Rs.10000 (1.11 x 1.11)?

= A = Rs. 12321

i.e., the amount including the compound interest is Rs 12321.
. Compound interest = Rs. (12321 — 10000) = Rs. 2321

Q3.

Answer :

Principal amount, P = Rs. 31250

Rate of interest, R = 8% per annum.

Time, n = 3 years.

The formula for the amount including the compound interest is given below :
A-RsP(1+ &)

3

— 8
-4 = Rs. 31250 (14 35
3
B 10048
=4 = Rs. 31250 (1)
3
— 108
= A = Rs.31250 (1%

= A = Rs.31250 (1.08 x 1.08 x 1.08)°

= A = Rs. 39366

i.e., the amount including the compound interest is Rs 39366.
.. Compound interest = Rs. (39366 — 31250) = Rs. 8116

Q4.

Answer:

Principal amount, P = Rs. 10240

Rate of interest, R= 12 % p.a.

Time, n = 3 years

The formula for the amount including the compound interest is given below :
R kL

A= Rs P(1+)

= 4= Rs. 10240(1+ 2 )3
= A — Rs. 10240 (14 25)3

= A

Rs

= A = Rs. 10240
=4 = Rs
Rs

= A = Rs. 10240 (1.125 x 1.125 x 1.125)*

= A = Rs. 14580

i.e., the amount including the compound interest is Rs 14580,
Compound interest = Rs (14580 — 10240) = Rs. 4340

Q5.
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Answer :

Principal amount, P = Rs 62500

Rate of interest, R = 12% p.a.

Time, n = 2 years 6 months = —; =2% years

The formula for the amount including the compound interest is given below :
_ R \"

4= Rs P(1+ )

1212 3 %12
=4 = Rs. 62500 (14 55) x (14 35

2
_ 12 6
— A — Rs. 62500 (1+m) x(1+1m)
— A — Rs. 62500 x 1.12 x 1.12 x 1.06
— A — Rs. 83104

i.e., the amount including the compound interest is Rs 83104.
.. Compound interest = Rs. (83104 — 62500) = Rs. 20604

Q6

Answer:

Principal amount, P = Rs. 9000

Rate of interest, R = 10% p.a.
Time, n = 2 years 4 months = Z%years = —; years
The formula for the amount including the compound interest is given below :

A=RePx(14+8)

2 2 x10
— L]
~ Rs. (QODI]x (1+3%) (1+ - ))

= Rs. (9000 x 1.10 x 1.10 x 1.033)

= Rs. 11252.9 =5 11253

i.e., the amount including the compound interest is Rs 11253.
. Compound interest = Rs. (11253 — 0000) = Rs. 2253

Q7.

Answer :

Principal amount, P = Rs. 8000

Rate of interest for the first year, p= 9% p.a.

Rate of interest for the second year, g= 10% p.a.

Time, n = 2 years.

Formula for the amount including the compound interest for the first year :

A= Rs {Px(14:5)x(1+55)}
= Bs. {8000 x (14 5% ) x (1+4%)}
— Rs. {mmx(%)x(%)}

= Rs. {8000 x (1.09) x (1.1)}

= Rs. 9592
i.e., the amount including the compound interest for first year is Rs 9592.

Q8.

Answer :

Principal amount, P = Rs. 125000

Rate of interest, R = 8% p.a.

Time, n = 3 years

The amount including the compound interest is calculated using the formula,
A-RsP(1+ &)

3
Rs. 125000 (1 4 %)

Rs. 125000 (%)1

3
i 108
= Rs. 125000 (m)
— Rs. 125000 (1.08)*
= Rs. 125000 (1.08 x 1.08 x 1.08)

= Rs. 157464
*. Anand has to pay Rs 157464 after 3 years to clear the debt.

Q9.
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Answer :

Principal amount, P = Rs. 11000

Rate of interest, R = 10% p.a.

Time, n = 3 years

The amount including the compound interest is calculated using the formula,
A=FRsP(1+ %)

Rs. 11000 (1 + 75

3
Rs. 11000 (IIIIH.CI

Rs. 11000 (%g)
= Rs.11000 (1.1)"
= Rs. 11000 (1.1 x 1.1 x 1.1)

= Rs. 14641
Therefore, Beeru has to pay Rs 14641 to clear the debt.

Q10.

Answer :

Principal amount, P = Rs. 18000

Rate of interest for the first year, p = 12% p.a.
Rate of interest for the second year, g = 12%%1}.3.
Time, n = 2 years

The formula for the amount including the compound interest for the first year is given
below :

A={Px(1+%)x(1+:5)}
= Rs. {18000 x (14 3) x (1+ 3

}
Ao (2557 < (10 2)}
(5) > (+5)}

Rs
- Rs. {1soucu>< R
Rs.

100

{1so00 x (2522) < (222)}
~ Rs. {18000>< (%) ) (g)}

= Rs. {18000 x (1.12) x (1.125)}
= Rs. 22680

. Shubhalaxomi has to pay Rs 22680 to the finance company after 2 years.

Q11

Answer :

Principal amount, P = Rs. 24000

Rate of interest, R = 10% p.a.

Time, n = 2 years 3 months = 2% years

The formula for the amount including the compound interest is given below :

r\" R
A=Px(1+m) x(1+ﬁ)
2 2xa0
= Rs. 24000 x (1+ ) x(1+‘TD)

2
— 100410 100425
= Rs. 24000 x (T) x (T

2
— 110 10042.5
— Rs. 24000 x (lm) x( " )

= Rs. 24000 x (1.1 x 1.1 x 1.025)

= Rs. 24000 x (1.250)

= Rs. 29766

Therefore, Neha should pay Rs 20766 to the bank after 2 years 3 months.

Q12.
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Answer :

Principal amount, P = Rs 16000
Rate of interest, R = %%p.a.
Time, n = 2 years

Now, simple interest — Rs ("“’%‘X“;“) — Rs. 2400

Amount including the simple interest = Rs (16000 4 2400) = Rs 18400
The formula for the amount including the compound interest is given below :
A=P(i+&)

2
= Rs. 16000 (1+ 125 )
= Rs. 16000 (14 5 ’
= Rs.16000 (1 + 4—:}])2
— Rs.16000 (%)2
— Rs. 16000 (%)2

= Rs. 16000 (1.075 = 1.075)

i.e., the amount including the compound interest is Rs 18490.
Now, (CI — SI)= Rs. (18490 — 18400) = Rs. 90
Therefore, Abhay gains Rs. 90 as profit at the end of 2 years.

Q13.

Answer :

Simple interest (SI) = Rs. 2400

Rate of interest, R = 8%
Time, n = 2 years
The principal can be calculated using the formula :

sam — ()

Bx2
i.e., the principal is Rs. 15000.
The amount including the compound interest is calculated using the formula given below :
n
A=P(1+5)
— Rs. 15000 (1+ 3 )

= Rs. 15000 (“’”'8)2

= Sum — Rs. (‘“""2“”") — Rs. 15000

— 108
= Rs. 15000 (12

= Rs. 15000 (1.08 x 1.08)
= Rs. 17496
i.e., the amount including the compound interest is Rs. 17496.

. Compound interest (CI) = Rs. (17496 — 15000) = Rs. 2496

Q14.

Answer :

Let Rs P be the sum.
Then SI = M"“) Rs.

- {oe(d)
— ks {Px ()" P}

= Rs. {px(S—ﬁg)z_P}

= R { (%) -}

— Rs. {%ﬁﬁm}= Rs.%

i

Now, (CI — SI) = Rs. (%{ = 3_25)

- Ro. (2mpgur)
= Rs. 0%
Now, Rs. 90 = i

2500
= P = (%) = Rs. 25000

Hence, the required sum is Rs. 25000,
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Q15.

Answer :

Let P be the sum.
Px3x10 0P P
TheuSI:Rs(T)=Rsﬁ=Rsﬁ

Also, CI = Rs. {Px(l+%)3—P}
= Rs. {Px(%)!—rﬂ}

= Rs. {Px(%)ﬂ—P}

- {(3) 7}

Now, ( CI — SI)=Rs (E_ E)

1000 10
- 191P-300P
— Rs (—wm )

np
= Rs 45
Now, Rs. 93 = S

1000
N (%ﬂ): Rs. 3000

Hence, the reguired sum is Rs. 3000.

Q1é.

Answer :

Let Pbe the sum.
Rate of interest, R = 6% = 2%

Time, n = 2 years
Naw,A:Px(H%)z
= Rs.Px(l+%)2

= RS.PX(%)Q

= Rs. Px (%)2

= Rs. Px (i—:xi—:

= Rs. ZF

= Rs. 10240 = Rs. 2P
= Rs. (%):P

. P = Rs. 9000

Hence, the required sum is Rs. 9000
Q17.

Answer :

Let Pbe the sum.
Rate of interest, R = 10%
Time, n = 3 years

Now, A= Px (1+%)3
- RS.PX(%)E

= Rs. Px (%g)‘

= a8 il g dL
= Rs. Px (wxmxm
— Rs 139P

1000
However, amount = Rs. 21206

amnp
Now, Rs. 21206 = Rs. 12F

G- (21296x100u) - p

1331
-. P = Rs. 16000
Hence, the required sum is Rs. 16000.

Q1s.
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Answer:

Let R% p.a. be the required rate.

A = 4410
P = 4000
n = 2 years

Naw,A=P(1+%)"

= 4410 = 4000 (1+ %)2

pal _ R
a1 1m
2-2 _ R
= T 1
T B
= HW T 10
1 x 100
=R = =5
20)

Hence, the required rate is 5% p.a.

Q19.

Answer:

Let the required rate be R% p.a.
A = 774.40

P = 640

n = 2 years

R n
Now,A:P(l-i—m)
R 2
= 774.40 = 640 (1+ﬁJ
2
77440 R
=>—”_(1+—m)
R 2
>12= (1+ )

2

= (L1’ = (1+4%)
= IR
s11-1= &

R
=01= &
=R = (0.1x100) = 10

Hence, the required rate is 10% p.a.
Q20.

Answer :

Let the required time be n years.
Rate of interest, R = 10%

Principal amount, P = Rs. 1800
Amount with compound interest, 4 = Rs. 2178

Now, 4 = Px(l-ﬁ—%)"
= Rs 1800 x (143"

— Rs. 1800 x (1582)"

Ll 10\"
— Rs. 1800 x (ﬁ

— Rs. 1800 x (%)°

However, amount = Rs. 2178
Now, Rs. 2178 = Rs. 1800 x (%)"

4
E

Il
Ty
3
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Answer:

Let the required time be n years.

Rate of interest, R = 8%

Principal amount, P = Rs. 6250

Amount with compound interest, A = Rs. 7290

il A= T (1+%)"
= A— Rs. 6250 x (1+%ﬂ)“

_ 10048 )™
— Rs. ﬁ'ZSOx( o )

=Rs. 6250 x (12)"

=Rs. 6250 x (2—2;)"

However, amount = Rs. 7290
Now, Rs. 7290 = Rs. 6250 x (%)

~& = (&)
-3 - (&)
2 n
(%) -®
% B 2w
Q22.
Answer :

Population of the town, P = 125000
Rate of increase, R = 2%
Time, n = 3 years
Then the population of the town after 3 years is given by
1
Population = P x (1 + %)
2 \?
— 125000 x (1+ ;)
|
= 10042
= 125000 x (152)
102 )3
)3
(%) x (%)

= 125000 x

g

gz 5

= 125000 x (
_ 51
= 125000 x (4
= (51 x 51 x 51)
= 132651

Therefore, the population of the town after three years is 132651.

—

Q23.

Answer :

Let the population of the town be 50000.
Rate of increase for the first year, p = 5%
Rate of increase for the second year, g = 4%

Rate of increase for the third year, r = 3%
Time = 3 years

Now, present population = {P x (14— %) x (1+ %) x (1 + ﬁ)}

= (21 x 26 x 103)
= 56238

Therefore, the present population of the town is 56238,

Q24.
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Answer :

Population of the city in 2009, P = 120000

Rate of increase, R = 6%

Time, n = 3 years

Then the population of the city in the year 2010 is given by
n

Population = P x (1 + %)

1
= 120000 x (1+ 1)

= 120000 x (55°)

106
— 120000 x (ﬁ)

= 120000 x (“)
= 2400 x 53

= 127200
Therefore, the population of the city in 2010 is 127200.
Again, population of the city in 2010, P = 127200
Rate of decrease, R = 5%

Then the population of the city in the year 2011 is given by
. _ r\"
Population = P x (1 — ﬁ)

2l

= 127200 x (1 - %)]

= 127200 x (%555°)

= 127200 x (fﬁ)

= 127200 x (‘i‘;)

= 6360 x 10

= 120840

Therefore, the population of the city in 2011 is 120840.
Q25.

Answer :

Initial count of bacteria, P = 500000

Rate of increase, R = 2%

Time, n = 2 hours

Then the count of bacteria at the end of 2 hours is given by
Count of bacteria = P x (1+%)

2 2
= 500000 x (1 + TO)

1
10042\ 2
= 500000 x (

2
= 500000 x (;—)
51 -
= 500000 x (

= 500000 x (ﬂ) x (ﬂ)
= (200 x 51 x 51)

= 520200

Therefore, the count of bacteria at the end of 2 hours is 520200.

Q26.
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Answer :

Initial count of bacteria, P = 20000

Rate of increase, R = 10%

Time, n = 3 hours

Then the count of bacteria at the end of the first hour is given by

Count of bacteria = P x (1+%)“

1
= 20000 x (1+ 5,

o 100410
= 20000 x (155

_ 10
— 20000 x (lm

= 20000 x (%)
= 2000 x 11

= 22000

Therefore, the count of bacteria at the end of the first hour is 22000.
The count of bacteria at the end of the second hour is given by

n
Count of bacteria =Px(1—%)
_ 10 3y}
= 22000 x (1 - 5

— 22000 x M)

Therefore, the count of bacteria at the end of the second hour is 19800.
Then the count of bacteria at the end of the third hour is is given by

Count of bacteria = P x (1+ 43"
= 19800 x (1+ 35 '

B 100410
— 19800 x (—m )

— 110
— 19800 x (ﬁ

= 10800 x (})
= 1980 x 11

= 21780

Therefore, the count of bacteria at the end of the first 3 hours is 21780.

Q27.

Answer :

Initial value of the machine, P = Rs 625000

Rate of depreciation, R = 8%

Time, n = 2 years

Then the value of the machine after two years is given by
e r\"

Value = Px(l—m)

]
cose 8
= Rs 625000 x (1—ﬁ

2
— Rs 625000 x “'"'8)

= Rs 625000 x

= Rs 625000 x

= Rs 625000 x

= Rs (1000 x 2
= Rs 529000
Therefore, the value of the machine after two years will be Rs. 529000.

B o —,

Q28.
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Answer :

Initial value of the scooter, P = Rs 56000

Rate of depreciation, R = 10%

Time, n = 3 years

Then the value of the scooter after three years is given by
Value = P x (1— %)"

— Rs. 56000 x (1— %)!

= Rs. 56000 x [ ==——

= Rs. 56000 x

= Rs. 56000 x

=Rs. (66 x9x9x9)
= Rs. 40824
Therefore, the value of the scooter after three years will be Rs. 40824,

(

= Rs. 56000 x (ﬁ
(
(

Q29.

Answer:

Initial value of the car, P = Rs 348000

Rate of depreciation for the first year, p= 10%

Rate of depreciation for the second year, = 20%
Time, n = 2 years.

Then the value of the car after two years is given by

Value = {Px (1- ) x (1- )}
=Rs. {34800 x (1- 28) x (1- 2)}

=Rs. {348000 x (%’) » (wfmﬁﬂ)}

= Rs. {34800 x (1) x (%) }

—Rs. {348000 x (1—‘:]) x (1—% }
= Rs. (3480 x 0 x 8)

= Rs. 250560
. The value of the car after two years is Rs 250560.

Q30.

Answer :

Let the initial value of the machine, P be Rs z.
Rate of depreciation, R = 10%

Time, n = 3 years

The present value of the machine is Rs 291600.
Then the initial value of the machine is given by

Value = P x (1—%)“
=]5!.s.z>':(1—11T'i])3

—Rs. z x (1[!0 10)3

100

=Rs.zx(%)3

3
9
=Rs. zx (ﬁ)
.. Present value of the machine = Rs 291600

_ 9 9 9
Now, Rs 291600 = Rs x x (ﬁ) X (ﬁ) X (ﬁ)
— 201600 x10x10x10
==z = Rs 05050

-~ 201600000
=z =Rs 0

=z = Rs 400000
.. The initial value of the machine is Rs 400000.
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Ex 11C

1. Let Principal = P, Rate = R% per annum, Time = 1 years.

2. When interest is compound Annually:

Amount =P [ 1+ 2"

ount = + S0 100

3. When interest is compounded Half-yearly:
(R/2) |2n

Amount = P |:1 + W]

4. When interest is compounded Quarterly:

_ (R/4) | 4n
Amount = F |:1 + 00

5. When interest is compounded Annually but time is in fraction, say 3% years.

3 2p
Amount:P[1+iD] x|[1+35
10 100
6. When Rates are different for different years, say Ry%, Ry%. Ra% for 15, 2" and 3¢ year respectively.

- F|'1 R: R3
Then, Amount =P [1 + 100][1 + m}[1 + ﬁ}

7. Present worth of Rs. x due n years hence is given by:
X

Present Worth = s R R .
100

Future Value Formula (compound interest)

1% nt
A=P(1+—)
n

Where:

A = resulting amount (future value)

P = amount of principal (present value)

r = annual interest rate

n = number of compounding periods per year
t = time (in years)

Let Principal = P, Rate = R% per annum,
Time = n years.

1. When interest is compounded annually :

) R
Amount = P|1+—

100
2. When interest is compounded half-yearly :
(R/2) [*
Amount = P_1+ 100
3. When interest is a:oni';mmded quarterly :
~ ®R/4) |
Amount = P 1 100

4. When interest is compounded annually
but time is in fraction, say 3% years.

=R
R 5
Amount = P[l +ﬁ x[l "'ﬁ]
5. When rates are different for different

years, say R % , Ry%, Ry% for 1st, 2nd and
3rd year respectively. Then,

wenruent o1 B3 Re )1 R )
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6. Growth : If the rate of growth is constant,

then
r e
V= v0(1 +100]

where 1% is the rate of growth per year, n
is the number of years, V; is the present
measure of the quantity and V is the
measure of the quantity after n years.

Similarly, if V; is the measure of the

quantity n years ago and V is the present
measure of the quantity, then

r L
V = V{;(l +ﬁ]

7. Depreciation : If the rate of depreciation is
constant, then

- . r n
V = v{}(]—ﬁ]

where r% is the rate of depreciation per
year, n is the number of years, V; is the
present value and V is the value after n
years. :

- Simikarly, if Vg is the value n years ago
and V is the present value, then

7 A
V=V [1-100)
8. Population:
(i) Population after n years = Present
; r VI
population| 1 + 1 00]

(if) Present population = Population n

r
yearsago|1 +100

Q1.

Answer:

Principal, P = Rs. 8000

Time, n = 1 year = 2 half years

Rate of interest per annum = 10%

Rate of interest for half year, R = % = 5%

The amount with the compound interest is given by

Amount — Rs.Px(1+%)2
= Rs. s||3[30x(1+%)2

= Rs. 8000 x (I )2

= Rs. 8000 x (5 )2

Rs. 8000 x (5) x ()

= Rs. (20 x 21 x 21)
= Rs. 8820

. Compound interest = amount — principal = Rs. (882{] —SDOO) = Rs. 820
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Q8.

Principal, P — Rs. 12800

Annual rate of interest, R = 1—25%

Rate of interest for a half year — ] (1:—)% —’}%

Time, n = 1 year = 2 half years
Then the amount with the compound interest is given by
= r\"
A=Px (1 5 m)
2

. 12800 x (1 | ,,;K,)

— 12800 x (1+ m:f‘“)?

2
B 400 115
— 12800 x (W)

~ 12800 x (-"5)2

= 12800 x () x (%)
— (2x83x83)
= Rs 13778

g g

Therefore, compound interest amount — principal = Rs (137?8 1280(]) Rs

978

Q4.

Answer :

Principal, P = Rs. 160000

Annual rate of interest, R = 10%

Rate of interest for a half year — 1?” % = 5%

Time, n = 2 years = 4 half years

Then the amount with the compound interest is given by
a=Px1 +i)"

100

— 160000 x (1+i)4

100

100

— 160000 x (wr

— 160000 x (%)4

— 160000 x (%) x (%) x (%) e (%)
= (21 x 21 x 21 x 21)

= Rs 194481

Therefore, compound interest — amount — principal = Rs (194481— 160000) =

Rs 34481
Q5.
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Principal, P — Rs. 40060
Annual rate of interest, R = 2—25%

Rate of interest for half year — %%
Time, n = 1% years — 3 half years
Then the amount with the compound interest is given by

A:Px(1+f‘)

100

— 40060 x (1+ mﬂ)a

— 40960 x (“‘”‘“25)

400

425 3
400
*

~ 40960 x (47

- 40960x(

(36) > (5)
= (10 x 17 x 17 x 17)
= Rs 49130

Therefore, compound inferest — amount — principal = Rs (49130— 40960) = Rs
8170

Therefore, Swati has to pay Rs. 40130, which includes an interest of Rs. 8170, to
the bank after 1% years.

Qé.

Answer:

Let the principal amount be P = Rs. 125000.

Annual rate of interest, R = 12%

Rate of interest for a half year = 6%

Time, n = 1% years = 3 half years

Then the amount with the compound interest is given by

A—P x(l—l——)n

100

— Rs. 125000 x (1 i]s
3

— Rs. 125000 x
— Rs. 125000 x
~ Rs. 125000 % (5) x (3) x (%)

= Rs. (53 x 53 x 53)
= Rs. 148877

Now, CI = A — P=Rs. (148877— 125000) = Rs. 23877

Therefore, Aslam has to pay an interest of Rs. 23877 to the bank after 1% years.

Q7.
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Answer:

Let the principal amount be P = Rs. 20000.

Amnual rate of interest, R = 6%

Rate of interest for half year = 3%

Time, n — 1 year — 2 half years

Then the amount with the compound interest is given by

A—P x(1+%)“

3 2
= Rs. 20000 x (1+ )

~ Rs. 20000 x (12022’

2
Rs. 20000 x (ﬁ)

100

— Rs. 20000 x (1“3) x (ﬂ)

100 100
— Rs. (2 x 103 x 103)

= Rs. 21218
Therefore, Sheela pets Rs. 21218 after 1 year.

Q8.

Answer :

Let the principal amount be P = Rs. 65536.

Annual rate of interest, R = 2—25 %

Rate of interest for a half year — %5 %

Time, n = 2 years = 4 half years

Then the amount with the compound interest is given by

A—Px (1+ﬁ)"

— Rs. 65536 x (1+ 2 )4

100 x4

=)

Rs. 65536 x (

— Rs. 65536 x (4 )

400
(3
— Rs. 65536x(

)4

o) (5) < (%) < (%)
Rs. (17 x 17 x 17 x 17)
= Rs. 83521

Now, CI = A - P

= Rs. 65536 x

sl5 =5
-1 =]

= Rs. (83521 —65536) = Rs. 17085

Therefore, interest earned when compounded half yearly — Rs. 17085
Amount when the interest is compounded yearly is given by

A= P x (1+ rfu)n
~ Rs. 65536 x (1+ %)2
— Rs. 65536 x (2“',5'0‘025)2

— Rs. 65536 x (2£)°

— Rs. 65536 x (%)2

— Rs. 65536 x (1) % (2)

=Rs. 82044

Therefore, CI = A— P =Rs. (82944—65536) =Rs. 17408

*. Difference between the interests compounded half yearly and yearly = Rs.
(17985 - 174[!8) =Rs. 577

Q9.
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Answer :

Let the principal amount be P = Rs 32000.
Annual rate of interest, R = 5%

Rate of interest for a quarter year — % %

Time, n = 6 months = 2 quarter years
Then the amount with the compound interest is given by

A— Rs. P x(1+£)"

100

— Rs. 32000><(1+ 5 )2

100x4

— Rs. 32000 x (&]2

400

I
[45)
b
=
[=]
=
e
e T
=z &
e

= Rs. 32000 x

= Rs. (5 x 81 x 81)
= Rs. 32805
Therefore, Sudershan will receive an amount of Rs. 32805 after 6 months.

Q10.

Let the principal amount be P = Rs 390625.

Annual rate of interest, R = 16%

Rate of interest for a quarter year — lf % = 4%

Time, n =1 year = 4 quarter years

Then the amount with the compound interest is given by
i3

A= Rs. Px(1+8)

= Rs. 300625 x

Rs. 300625 <

(
(
— Rs. 390625 x (
(

= Rs. 300625 x

= Rs. (26 x 26 x 26

= Rs. 456976
Therefore, Arun has to pay Rs 456076 after 1 year.

H e
=
—_—
HlE
—
X
—_—
Bl
—
=
—
®lE
—
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Ex 11D

Q1L

Answer:

(c) Rs. 832

A=Px(l+—)

= Rs. 5000 x

i

(1+%
— Rs. 5000 x (133
— Rs. 5000 x (2

)
= Rs. 5000 x (Z) x ()
Rs. (8 % 27 x 27)

— Rs. 5832

.. Interest — amount — principal = Rs (5832—5000) — Rs 832

Q2.

Answer :

(b) Rs. 3310

A:Px( wn)

~ Rs. 10000 (1 JFT';)Qt
— Rs. 10000 x (T“)

3
= Rs. 10000 x (%)

~ Rs. 10000 x () = (4) x (%)

= Rs. (10 x 11 x 11 x 11)
= Rs. 13310

.. Compound interest — amount — principal = Rs (13310 - 10000) = Rs 3310

Q3.
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Answer:

(a) Rs 1872

— Rs (8x28
— Rs 11872

.. Compound interest = amount — principal = Rs (11872 —10000) = Rs 1872

Q4.

Answer:

(c) Rs 961

2 iR
Here,A=Px(1+%) x(1+ﬁ)

2 Lo
= Rs. 4000 x (1495 ) x (14

— Rs. 4000 x (“’””“

100

&l

— Rs. 4000 x (110)2 x (%)
= Rs. 4000 x () x (%)
= Rs. (11 x 11 x 41)
= Rs. 4061

.. Compound interest — amount — principal = Rs (4961— 4000) = Rs 061

Q5.

Answer:

(b) Rs. 5051

Here, A — Rs.Px(l-l—T:’u

)% (14 45) < (14 %)
)x(1+m) x (14 535)
(1) = (%)
_Rs.25IJOIJx( ) ( )x(_)

= Rs. (21 x 53 x 27)
= Rs. 30051

— Rs. 25000 x (1+ 3
X

— Rs. 25000 x ("35)

.. Compound interest = amount — principal = Rs. (30051— 25000) = Rs. 5051

Q6.
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Answer :

(b) Rs. 510

Rate of interest compounded half yearly — %% =4%
Time = 1 year = 2 half years

" n
Now, A = P x (1+—)

_ Rs. 6250 x (1+—)2

100
— Rs. 6250 x (170)2
— Bs. 6250x (2) x (2)
— Rs. (10 x 26 x 26)
— Rs. 6760

*. Compound interest — amount — principal = Rs. (6760 — 6250) = Rs. 510

Q7.

Answer:

(a) Rs.1209

Time = 6 months = 2 quater years

Rate compounded quarter yearly — 2% = 2%
n
Now, A = P x (1+%)

— Rs. 4[IIJOIJ><( L)z

1002

— Rs. 40000 x (203)

200

— Rs. 40000 x (ﬂ) x (ﬂ)

200 200
— Rs. (203 x 203)
— Rs. 41209

. Compound interest = amount — principal = Rs. 41209 — Rs. 40000 = Rs.1209
Qs.

Answer:

(b) 26460

|:u

)

&)
— Rs. 24IJOD><( )

00
Rs. 24000 x (%) x ()
Rs. (60 x 21 x 21)

Rs. 26460

I“§

= Rs. 24000 x

Here, A = P x (1
(1+

I
”8

Q9.

Answer:

(C) Rs. 43740

Here, A — Rs.Px(l— Ru)

100
3

Rs. 60000 x (1 . ﬂ)

100

— Rs. 60000 x (ﬂ)s

100

= Rs. 60000 % (5) % (%) = (&)
= Rs. (60x0x90x9)
— Rs. 43740

Q10.
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Answer :

(b) Rs. 62500

He:re,A:Px(l—%)n

- Px(l— 20)2

100

6r
= 40000 — 2P

. _ 40000x25 _

o P = =22 — Rs 62500

Q11

Answer :

(a) 25000

Let P be the popultion 2 years ago.

Now, present population = 33275
3

=33275= Px (1+23)

33275 = Px (W)’

=33275= Px (3) (%)= (%)
> Wih — SME

1000
2 _ 332Thx1000 _
o P = BN _ 95000
Q12.
Answer:
(d) Rs 1261

_ Px5x3
Here, SI = T

Pxbx3
= 1200 = B>

— P — 12010 _ g 8000
=3

3
Amount at the end of 3 years = Rs 8000 x (1 +%)

Rs 8000 x (15)°

— Rs 8000 x (%) x (%) < (%)
= Rs (21 x 21 x 21)
= Rs 9261

" Cl =A-P = Rs (9261—8000) = Rs 1261
Q13.
Answer :

(d) Rs 480

o P = M _Rs 1020

_ PxRxT
Now, SI = 55

. 1020x2x25 _
=Rs === = Rs 480
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Q14.

Answer:

(d) Rs 4096

We have Rs 4913 — {Px (
3

= Rs 4913 ={Px (%)

> Rs 4913 = {Px (£)x (£) x (£)}
- Rs 4913 — 9P

4013 <4006
= P — Rs 408x40% _ pg 4096

Q15.

Answer:

(c) 6%

00
2
~ Rs. 7500 x (1+ &)
3
— Rs. 7500 x (1+ &)
However, amount — Rs. 8427

2
Now, Rs. 8427 — Rs. 7500 x (1+ %)

S () - (2)
>R B3
:}’% 535050_530
~R=30_6%
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